
❆♣♣r♦①✐♠❛t✐♦♥ ♦❢ t❤❡ ❘❡❧❛①❛t✐♦♥ ❚✐♠❡ ♦❢ ◆✉❝❧❡✐ ✐♥

❙✐❧✐❝♦♥ ❛t ❘♦♦♠ ❚❡♠♣❡r❛t✉r❡

◆ä❤❡r✉♥❣ ❞❡r ❘❡❧❛①❛t✐♦♥s③❡✐t ✈♦♥ ❑❡r♥s♣✐♥s ✐♥ ❙✐❧✐③✐✉♠

❜❡✐ ❘❛✉♠t❡♠♣❡r❛t✉r

♣r❡s❡♥t❡❞ ❜②

❚♦❜✐❛s ❍❡rr✐❣

▼❛tr✐❦❡❧♥✉♠♠❡r✿ ✸✸✻✶✵✽

❜❛❝❤❡❧♦r t❤❡s✐s

s✉❜♠✐tt❡❞ t♦ t❤❡

■♥st✐t✉t❡ ❢♦r ◗✉❛♥t✉♠ ■♥❢♦r♠❛t✐♦♥

♦❢ t❤❡ ❘❲❚❍ ❆❛❝❤❡♥

✐♥ ❏✉❧② ✷✵✶✻

●✉t❛❝❤t❡r✿ Pr♦❢✳ ❉r✳ ❉❛✈✐❞ ❉✐❱✐♥❝❡♥③♦

❩✇❡✐t❣✉t❛❝❤t❡r✿ Pr♦❢✳ ❉r✳ ❋❛❜✐❛♥ ❍❛ss❧❡r
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✹ ❈❛❧❝✉❧❛t✐♦♥s ♦♥ T1 ❢r♦♠ ❙❧✐❝❤t❡r ✼
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✶ ■♥tr♦❞✉❝t✐♦♥

✶ ■♥tr♦❞✉❝t✐♦♥

❚❤❡ ♣❛♣❡r ❘♦♦♠✲❚❡♠♣❡r❛t✉r❡ ◗✉❛♥t✉♠ ❇✐t ❙t♦r❛❣❡ ❊①❝❡❡❞✐♥❣ ✸✾ ▼✐♥✉t❡s ❯s✲

✐♥❣ ■♦♥✐③❡❞ ❉♦♥♦rs ✐♥ ❙✐❧✐❝♦♥✲✷✽ ♦❢ ❙❛❡❡❞✐ ❡t ❛❧✳ ✭✷✵✶✸✮ ❬✷❪ ✐s ❛❜♦✉t ❛♥ ❡①✲

♣❡r✐♠❡♥t t♦ ♠❡❛s✉r❡ t❤❡ r❡❧❛①❛t✐♦♥ t✐♠❡s T1 ❛♥❞ T2 ♦❢ ♥✉❝❧❡❛r s♣✐♥s ✐♥ ❞♦♣❡❞

s✐❧✐❝♦♥✳ ■♥ t❤✐s ❜❛❝❤❡❧♦r t❤❡s✐s ■ tr② t♦ ❞❡r✐✈❡ ❛♥ ❛♣♣r♦①✐♠❛t❡ ✈❛❧✉❡ ❢♦r ❛ ❝♦♥tr✐✲

❜✉t✐♦♥ t♦ t❤❡ r❡❧❛①❛t✐♦♥ t✐♠❡ ♦❢ ♣❤♦s♣❤♦r ❛t♦♠s ✐♥ s✐❧✐❝♦♥ ❛t r♦♦♠ t❡♠♣❡r❛t✉r❡

✉♥❞❡r t❤❡ ❝♦♥❞✐t✐♦♥s ♦❢ t❤❡ ❡①♣❡r✐♠❡♥t✳ ❚❤❡ ❝♦♥s✐❞❡r❡❞ ♠❡❝❤❛♥✐s♠ ✐s t❤❡ ❝♦✉✲

♣❧✐♥❣ ♦❢ t❤❡ ♥✉❝❧❡✐ t♦ t❤❡ s♣✐♥s ♦❢ t❤❡ ❢r❡❡ ❡❧❡❝tr♦♥s ❛♥❞ ❤♦❧❡s✳ ❚❤❡ ❛✐♠ ✐s t♦

s❡❡ ✐❢ t❤✐s ♠❡❝❤❛♥✐s♠ ❝❛♥ ❡①♣❧❛✐♥ t❤❡ ❡①♣❡r✐♠❡♥t❛❧ r❡s✉❧ts ♦♥ ✐ts ♦✇♥✳

❋✐rst✱ ■ ✇✐❧❧ ❜r✐❡✢② ✐♥tr♦❞✉❝❡ t❤❡ ❇❧♦❝❤ ❡q✉❛t✐♦♥s ❛♥❞ t❤❡ r❡❧❛①❛t✐♦♥ t✐♠❡s

❛s t❤❡♦r❡t✐❝❛❧ ❢r❛♠❡✇♦r❦✳ ❚❤❡ ❝♦♥❞✐t✐♦♥s ❛♥❞ t❤❡ r❡s✉❧ts ♦❢ t❤❡ ❡①♣❡r✐♠❡♥t

❛r❡ ❞❡s❝r✐❜❡❞ ✐♥ t❤❡ ♥❡①t s❡❝t✐♦♥✳ ❆❢t❡r t❤❛t ■ ✇✐❧❧ st❛rt t❤❡ ❝❛❧❝✉❧❛t✐♦♥ ♦❢ t❤❡

r❡❧❛①❛t✐♦♥ t✐♠❡ T1 ❛♥❛❧♦❣♦✉s❧② t♦ ❞❡r✐✈✐♥❣ t❤❡ ❑♦rr✐♥❣❛ r❡❧❛t✐♦♥✱ r❡❝❛♣✐t✉❧❛t✐♥❣

t❤❡ ❝❛❧❝✉❧❛t✐♦♥s ♠❛❞❡ ✐♥ t❤❡ ❜♦♦❦ ♦❢ ❙❧✐❝❤t❡r ✭✶✾✾✵✮ ❬✹❪✳ ❚❤✐s ✇✐❧❧ ❡♥❞ ✉♣

✇✐t❤ ❛♥ ✐♥t❡❣r❛❧ ✇❤✐❝❤ ❤❛s t♦ ❜❡ ❡✈❛❧✉❛t❡❞ ✉♥❞❡r t❤❡ ❣✐✈❡♥ ❝♦♥❞✐t✐♦♥s ♦❢ t❤❡

❡①♣❡r✐♠❡♥t✳ ❋♦r t❤❛t t❤❡ q✉❛s✐ ❋❡r♠✐ ❧❡✈❡❧ ❢♦r ❜♦t❤ t❤❡ ❡❧❡❝tr♦♥s ❛♥❞ ❤♦❧❡s

♥❡❡❞ t♦ ❜❡ ❝❛❧❝✉❧❛t❡❞✱ ✇❤✐❝❤ ✇✐❧❧ ❜❡ ❞♦♥❡ ✐♥ t❤❡ ♥❡①t s❡❝t✐♦♥✳ ❚❤✐s s❡❝t✐♦♥ ❛❧s♦

❞❡❛❧s ✇✐t❤ ✜♥❞✐♥❣ ❛♥ ❛♣♣r♦♣r✐❛t❡ ✇❛② t♦ ❤❛♥❞❧❡ t❤❡ ❋❡r♠✐✲❉✐r❛❝ ❞✐str✐❜✉t✐♦♥✳

❆♥❞ ✐♥ t❤❡ ❧❛st s❡❝t✐♦♥ ■ ✇✐❧❧ ✉s❡ t❤❡ ♦❜t❛✐♥❡❞ r❡s✉❧ts ❢♦r s♦❧✈✐♥❣ t❤❡ ✐♥t❡❣r❛❧

t♦ ❣❡t ❛ ✜♥❛❧ r❡s✉❧t ❢♦r t❤❡ ❝♦♥tr✐❜✉t✐♦♥ t♦ t❤❡ r❡❧❛①❛t✐♦♥ t✐♠❡✳

✲ ✶ ✲





✷ ❇❧♦❝❤ ❊q✉❛t✐♦♥s

✷ ❇❧♦❝❤ ❊q✉❛t✐♦♥s

■♠❛❣✐♥❡ ❛ ♥✉❝❧❡✉s ✇✐t❤ ❛ s♣✐♥ ♦❢ 1/2 ✐♥ ❛♥ ❡①t❡r♥❛❧ ❝♦♥st❛♥t ♠❛❣♥❡t✐❝ ✜❡❧❞

❛❧♦♥❣ t❤❡ ③✲❛①✐s B = B · ez✳ ■♥ t❤❛t ❝❛s❡✱ t❤❡ ♠❛❣♥❡t✐❝ ♠♦♠❡♥t µ ♣r❡❝❡ss❡s

❛❜♦✉t t❤❡ ③✲❛①✐s ✇✐t❤ t❤❡ ▲❛r♠♦r ❢r❡q✉❡♥❝② ωL = γB✳ ❇❡❝❛✉s❡ ♦❢ t❤❡ ❩❡❡♠❛♥♥

❡✛❡❝t t❤❡ ❡♥❡r❣② ❧❡✈❡❧s ❛r❡ s♣❧✐tt✐♥❣ ✉♣ ✇✐t❤ ∆E = E↓ − E↑ = h̄ · ωL = h̄ · γB
✇✐t❤ t❤❡ ❣②r♦♠❛❣♥❡t✐❝ r❛t✐♦ γ✳ ■♥ ❛ ♠❛❝r♦s❝♦♣✐❝ ♠❛t❡r✐❛❧ t❤❡ s✉♠♠❛t✐♦♥ ♦✈❡r

t❤❡ s✐♥❣❧❡ ♠❛❣♥❡t✐❝ ♠♦♠❡♥ts ②✐❡❧❞s t❤❡ ♠❛❣♥❡t✐③❛t✐♦♥

M =
∑

i

µi.

❚❤❡♥ t❤❡ ❇❧♦❝❤ ❡q✉❛t✐♦♥s ❝❛♥ ❜❡ ❢♦r♠✉❧❛t❡❞ ♣❤❡♥♦♠❡♥♦❧♦❣✐❝❛❧❧②✿

dMx

dt
= γ(M ×B)x −

Mx

T2

dMy

dt
= γ(M ×B)y −

My

T2

dMz

dt
= γ(M ×B)z +

M0 −Mz

T1

❍❡r❡✱ M0 = χ0B ✐s t❤❡ ❡q✉✐❧✐❜r✐✉♠ ♠❛❣♥❡t✐③❛t✐♦♥ ✇✐t❤ t❤❡ s✉s❝❡♣t✐❜✐❧✐t② χ0✳

❚❤❡ ✜rst t❡r♠ ✐♥ t❤❡ ❇❧♦❝❤ ❡q✉❛t✐♦♥s ❞❡s❝r✐❜❡s t❤❡ ♣r❡❝❡ss✐♦♥ ♦❢ t❤❡ ♠❛❣♥❡t✐✲

③❛t✐♦♥ ❛❜♦✉t t❤❡ ❡①t❡r♥❛❧ ✜❡❧❞ ✇✐t❤ t❤❡ ▲❛r♠♦r ❢r❡q✉❡♥❝② ωL ❛♥❞ t❤❡ s❡❝♦♥❞

❞❡s❝r✐❜❡s t❤❡ r❡❧❛①❛t✐♦♥ ✇✐t❤ t❤❡ ❝❤❛r❛❝t❡r✐st✐❝❛❧ t✐♠❡s T1 ❛♥❞ T2✳ ❙♦ ✐♥ ❡q✉✐✲

❧✐❜r✐✉♠ ✇❡ ♦❜t❛✐♥ M = M0 · ez✳ T1 ✐s ❝❛❧❧❡❞ ❧♦♥❣✐t✉❞✐♥❛❧ r❡❧❛①❛t✐♦♥ t✐♠❡

❛♥❞ ✐s ❝❛✉s❡❞ ❜② s❡✈❡r❛❧ ✐♥t❡r❛❝t✐♦♥s✱ ❡s♣❡❝✐❛❧❧② ❜❡t✇❡❡♥ t❤❡ ♥✉❝❧❡✐ ❛♥❞ t❤❡

❡❧❡❝tr♦♥s ❛♥❞ ❤♦❧❡s✳ T2 ✐s ❝❛❧❧❡❞ tr❛♥s✈❡rs❛❧ r❡❧❛①❛t✐♦♥ t✐♠❡ ✭♦r s♣✐♥✲s♣✐♥ r❡✲

❧❛①❛t✐♦♥ t✐♠❡✮ ❛♥❞ ✐s ❝❛✉s❡❞ ❜② ✐♥t❡r❛❝t✐♦♥s ❜❡t✇❡❡♥ t❤❡ ♥✉❝❧❡❛r s♣✐♥s ❛♠♦♥❣

❡❛❝❤ ♦t❤❡r✱ ✇❤✐❝❤ ❧❡❛❞s t♦ s♣✐♥ ❞❡❝♦❤❡r❡♥❝❡✳ ❇❡❝❛✉s❡ ♦❢ t❤❛t✱ T2 ✐s ❛❧s♦ ❝❛❧❧❡❞

❝♦❤❡r❡♥❝❡ t✐♠❡✳ ❋♦r t❤❡ r❡❧❛①❛t✐♦♥ t✐♠❡s ✐t ❛♣♣❧✐❡s T2 ≤ 2 · T1 ❛♥❞ ✐♥ ♠♦st

s✐t✉❛t✐♦♥s T1 ✐s ❡✈❡♥ ❜✐❣❣❡r t❤❛♥ T2✳ ■❢ ②♦✉ s♦❧✈❡ t❤❡ ❇❧♦❝❤ ❡q✉❛t✐♦♥s✱ ②♦✉

♦❜t❛✐♥ ✇✐t❤ t❤❡ ✐♥✐t✐❛❧ ♠❛❣♥❡t✐③❛t✐♦♥ M (0)✿

Mx,y(t) = Mx,y(0) · e−
t
T2

(Mz(t)−M0) = (Mz(0)−M0) · e−
t
T1

✲ ✸ ✲
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❙♦✱ t❤❡ ❘❡❧❛①❛t✐♦♥ t✐♠❡s ❛r❡ ❥✉st t❤❡ ♠❡❛♥ ❧✐❢❡t✐♠❡s ♦❢ t❤❡ ♠❛❣♥❡t✐③❛t✐♦♥

❝♦♠♣♦♥❡♥ts ✭♠♦r❡ ♣r❡❝✐s❡❧②✱ t❤❡ ❝♦♠♣♦♥❡♥ts ♦❢ t❤❡ ❞✐✛❡r❡♥❝❡ ❜❡t✇❡❡♥ t❤❡

❛❝t✉❛❧ ♠❛❣♥❡t✐③❛t✐♦♥ ❛♥❞ t❤❡ ❡q✉✐❧✐❜r✐✉♠ ♠❛❣♥❡t✐③❛t✐♦♥✮✳

✲ ✹ ✲



✸ ❊①♣❡r✐♠❡♥t

✸ ❊①♣❡r✐♠❡♥t

❚❤✐s s❡❝t✐♦♥ ❞❡❛❧s ✇✐t❤ t❤❡ ❝♦♥❞✐t✐♦♥s ♦❢ t❤❡ ❡①♣❡r✐♠❡♥t t❤❛t ❛r❡ r❡❧❡✈❛♥t ❢♦r

♦✉r t❤❡♦r❡t✐❝❛❧ tr❡❛t♠❡♥t ❛♥❞ ✐ts r❡s✉❧ts✳ ❚❤❡② ❝❛♥ ❜❡ ❧♦♦❦❡❞ ✉♣ ❞❡t❛✐❧❡❞ ✐♥

t❤❡ ♣❛♣❡r ♦❢ ❙❛❡❡❞✐ ❡t ❛❧✳ ✭✷✵✶✸✮ ❬✷❪✳

✸✳✶ ❈♦♥❞✐t✐♦♥s

■♥ t❤❡ ❡①♣❡r✐♠❡♥t t❤❡② ✉s❡❞ s✐❧✐❝♦♥ ❡♥r✐❝❤❡❞ t♦ ✾✾✳✾✾✺✪ 28❙✐ ❝♦♥t❛✐♥✐♥❣ ∼
5 · 1011 cm−3 ♦❢ t❤❡ ❞♦♥♦r ♣❤♦s♣❤♦r✉s✲✸✶ ❛♥❞ ∼ 5 · 1013 cm−3 ♦❢ t❤❡ ❛❝❝❡♣t♦r

❜♦r♦♥✳ ❍❡♥❝❡✱ ✐t ✐s ❛ ♣✲t②♣❡ s❡♠✐❝♦♥❞✉❝t♦r✳ ❚❤❡ ❡①♣❡r✐♠❡♥t ✐♥✈♦❧✈❡s t❤r❡❡

st❡♣s✿

✶✳ ❋♦r t❤❡ ♣r❡♣❛r❛t✐♦♥ ♦❢ t❤❡ s❛♠♣❧❡✱ ❛ ✶✵✹✼ ♥♠ ❧❛s❡r ♣❤♦t♦♥❡✉tr❛❧✐③❡s ❛❧❧

t❤❡ ❞♦♥♦rs ❛♥❞ ❛❝❝❡♣t♦rs✳ ❚❤❡② ♦♣t✐❝❛❧❧② ❤②♣❡r♣♦❧❛r✐③❡✶ t❤❡ s♣✐♥s ♦❢ t❤❡

♥❡✉tr❛❧ ❞♦♥♦r st❛t❡s ✭D0✮ ❛♥❞ t❤❡♥ ❢✉❧❧② ✐♦♥✐③❡ t❤❡ ❞♦♥♦rs ❢♦r t❤❡ ♠❡❛✲

s✉r❡♠❡♥ts✱ ❜❡❝❛✉s❡ t❤❡ ❡❧❡❝tr♦♥s ♦❢ t❤❡ ♥❡✉tr❛❧ D0 st❛t❡s ✇❡r❡ ❝❛✉s✐♥❣

❞❡❝♦❤❡r❡♥❝❡ ❛♥❞ t❤❡r❡✇✐t❤ ❛ ❞❡❝r❡❛s❡ ♦❢ T2✳

✷✳ ❲❤✐❧❡ t❤❡ r❡❧❛①❛t✐♦♥ ♣r♦❝❡ss❡s✱ t❤❡ s❛♠♣❧❡ ❣❡ts ♠❛♥✐♣✉❧❛t❡❞ t♦ ❛✈♦✐❞

♥♦✐s❡ ❛♥❞ ✐♥t❡r❢❡r❡♥❝❡ ❝❛✉s❡❞ ❜② ✢✉❝t✉❛t✐♦♥s✳

✸✳ ❚❤❡ ❧❛st st❡♣ ✐s t❤❡ r❡❛❞♦✉t ♦❢ t❤❡ r❡♠❛✐♥✐♥❣ s♣✐♥ ♣♦♣✉❧❛t✐♦♥✳

❚❤❡② ✉s❡❞ t✇♦ ❞✐✛❡r❡♥t t❡♠♣❡r❛t✉r❡ ♣r♦✜❧❡s❀ ❡✐t❤❡r ❛ ✜①❡❞ t❡♠♣❡r❛t✉r❡ ❛t

T ≤ 4.2K ♦r ❛ t❡♠♣❡r❛t✉r❡ ❛t ✹✳✷❑ ❞✉r✐♥❣ t❤❡ ♣r❡♣❛r❛t✐♦♥ ❛♥❞ t❤❡ r❡❛❞♦✉t

✇❤✐❧❡ t❤❡ t❡♠♣❡r❛t✉r❡ ❞✉r✐♥❣ t❤❡ r❡❧❛①❛t✐♦♥ ♣r♦❝❡ss ❛♥❞ t❤❡ ♠❛♥✐♣✉❧❛t✐♦♥ ✐s

❤♦❧❞ ❛t r♦♦♠ t❡♠♣❡r❛t✉r❡ ✭✷✾✽❑✮✳

✸✳✷ ❘❡s✉❧ts

❋♦r t❤❡ T1✲r❡❧❛①❛t✐♦♥ t❤❡② ❣♦t ❛ r❡s✉❧t ♦❢ 78min ❛t 298K ❛♥❞ T1 ≫ 1 h ❛t 1.9K✳

❋♦r t❤❡ ❝♦❤❡r❡♥❝❡ t✐♠❡ ❛t ❝r②♦❣❡♥✐❝ t❡♠♣❡r❛t✉r❡s t❤❡② r❡❛❝❤❡❞ T2 = 180min

❛t 1.2K ❛♥❞ ✇✐t❤ r♦♦♠ t❡♠♣❡r❛t✉r❡ t❤❡② ♦❜t❛✐♥❡❞ T2 = 39min✳

✶❍②♣❡r♣♦❧❛r✐③❛t✐♦♥ ✐s ❛ st❛t❡ ✐♥ ✇❤✐❝❤ t❤❡ ❞❡❣r❡❡ ♦❢ ❛❧✐❣♥♠❡♥t ♦❢ ♥✉❝❧❡❛r s♣✐♥s ✐s ❢❛r ❜❡②♦♥❞
t❤❡r♠❛❧ ❡q✉✐❧✐❜r✐✉♠✳

✲ ✺ ✲





✹ ❈❛❧❝✉❧❛t✐♦♥s ♦♥ T1 ❢r♦♠ ❙❧✐❝❤t❡r

✹ ❈❛❧❝✉❧❛t✐♦♥s ♦♥ T1 ❢r♦♠ ❙❧✐❝❤t❡r

❆s ❛❧r❡❛❞② ♠❡♥t✐♦♥❡❞✱ ✇❡ ❝♦♥s✐❞❡r t❤❡ T1✲r❡❧❛①❛t✐♦♥ ♦❢ t❤❡ ♥✉❝❧❡✐ ❜② t❤❡✐r

❝♦✉♣❧✐♥❣ t♦ t❤❡ s♣✐♥s ♦❢ t❤❡ ❢r❡❡ ❡❧❡❝tr♦♥s ❛♥❞ ❤♦❧❡s✳ ❚❤✐s ❧❡❛❞s t♦ ❛ ❞❡r✐✈❛t✐♦♥

s✐♠✐❧❛r t♦ ❞❡r✐✈✐♥❣ t❤❡ ❑♦rr✐♥❣❛ r❡❧❛t✐♦♥ ✭❝❢✳ ❙❧✐❝❤t❡r✱ ✶✾✾✵ ✭♣♣✳✶✺✶✲✶✺✼✮ ❬✹❪✮✱

✇❤✐❝❤ ❝♦♥s✐❞❡rs t❤❡ ❞❡❣❡♥❡r❛t❡ ❝❛s❡✷ ❢♦r ♠❡t❛❧s✳

■♥ t❤✐s ♠❡❝❤❛♥✐s♠✱ ❛ ♥✉❝❧❡❛r tr❛♥s✐t✐♦♥ ✐s ❝♦✉♣❧❡❞ ✇✐t❤ ❛ s✐♠✉❧t❛♥❡♦✉s ❡❧❡❝tr♦♥

✭♦r ❤♦❧❡✮ tr❛♥s✐t✐♦♥ ✐♥ ♦r❞❡r t♦ ❝♦♥s❡r✈❡ ❡♥❡r❣②✳ ❚❤❡ ♥✉♠❜❡r ♦❢ tr❛♥s✐t✐♦♥s ♣❡r

✉♥✐t t✐♠❡ ❜❡t✇❡❡♥ t❤❡ ✐♥✐t✐❛❧ st❛t❡ ♦❢ ♥✉❝❧❡✉s ❛♥❞ ❡❧❡❝tr♦♥ ✭♦r ❤♦❧❡✮ |mks〉
❛♥❞ t❤❡ ✜♥❛❧ st❛t❡ |nk′s′〉 ✐s ❞❡t❡r♠✐♥❡❞ ❜② ❋❡r♠✐✬s ●♦❧❞❡♥ ❘✉❧❡ ✭♠✱ ♥ ❛r❡

t❤❡ ♥✉❝❧❡❛r q✉❛♥t✉♠ ♥✉♠❜❡rs ❛♥❞ k✱ s✱ k′✱ s′ ❛r❡ t❤❡ ✇❛✈❡ ✈❡❝t♦rs ❛♥❞ s♣✐♥

♦r✐❡♥t❛t✐♦♥s ♦❢ t❤❡ ❡❧❡❝tr♦♥ ♦r ❤♦❧❡✳✮✿

Wmks,nk′s′ =
2π

h̄
|〈mks|V |nk′s′〉|2 δ(Em + Eks − En − Ek

′s′) ✭✹✳✶✮

❚❤❡ ✐♥✐t✐❛❧ ❡❧❡❝tr♦♥ ✭♦r ❤♦❧❡✮ st❛t❡ ❤❛s t♦ ❜❡ ♦❝❝✉♣✐❡❞ ✇❤✐❧❡ t❤❡ ✜♥❛❧ st❛t❡ ❤❛s t♦

❜❡ ✉♥♦❝❝✉♣✐❡❞✳ ❚❤❡r❡❢♦r❡✱ ✇❡ ❤❛✈❡ ❢♦r t❤❡ t♦t❛❧ ♥✉❝❧❡❛r tr❛♥s✐t✐♦♥ ♣r♦❜❛❜✐❧✐t②

Wmn =
∑

k,s,k′,s′

Wmks,nk′s′f(k, s)[1− f(k′, s′)]. ✭✹✳✷✮

❚❤❡ ✐♥t❡r❛❝t✐♦♥ ❢r♦♠ t❤❡ s✲st❛t❡ ❝♦✉♣❧✐♥❣ ❜❡t✇❡❡♥ t❤❡ ♥✉❝❧❡❛r ❛♥❞ t❤❡ ❡❧❡❝tr♦♥

s♣✐♥s ✐s✸

V =
2

3
µ0γeγnh̄

2I · Sδ(r) ✭✹✳✸✮

γn ✐s t❤❡ ❣②r♦♠❛❣♥❡t✐❝ r❛t✐♦ ♦❢ t❤❡ ♥✉❝❧❡✉s✱ s♦ ✐♥ t❤✐s ❝❛s❡✱ ♦❢ ♣❤♦s♣❤♦r✉s✳

❲✐t❤ ❇❧♦❝❤✬s t❤❡♦r❡♠ ✇❡ ❣❡t |mks〉 = |m〉 |s〉 uk(r) exp(ik · r)✳ ❆♥❞ ✉s✐♥❣

∑

s,s′

〈s|Sα|s′〉 〈s′|Sα′ |s〉 = δαα′

2
,

✷■♥ t❤❡ ❞❡❣❡♥❡r❛t❡ ❝❛s❡✱ t❤❡ ❋❡r♠✐ ❧❡✈❡❧ ❧❛②s ✐♥s✐❞❡ ♦♥❡ ♦❢ t❤❡ ❡♥❡r❣② ❜❛♥❞s✳
✸❉✐✛❡r❡♥t ❛s ✐♥ t❤❡ ❜♦♦❦ ♦❢ ❙❧✐❝❤t❡r✱ ✇❡ ✉s❡ ❙■ ✉♥✐ts ✐♥st❡❛❞ ♦❢ ●❛✉ss✐❛♥ ✉♥✐ts

✲ ✼ ✲



✹ ❈❛❧❝✉❧❛t✐♦♥s ♦♥ T1 ❢r♦♠ ❙❧✐❝❤t❡r

♦♥❡ ♦❜t❛✐♥s

Wmn =
4

9
πh̄3µ2

0γ
2
eγ

2
n

∑

α

〈m|Iα|n〉 〈n|Iα|m〉 ·G(T ),

=: a00
∑

α

|〈m|Iα|n〉|2

✇✐t❤

G(T ) =
∑

k,k′

|uk(0)|2 |uk
′(0)|2f(Ek,s)[1− f(Ek

′,s′)]δ(Em + Eks − En − Ek
′s′).

◆♦✇✱ ✇❡ ❝❛♥ r❡♣❧❛❝❡ t❤❡ s✉♠♠❛t✐♦♥ ♦✈❡r k ❛♥❞ k′ ❜② ❛♥ ✐♥t❡❣r❛❧ ♦✈❡r Ek ❛♥❞

Ek
′ ✱ ✐♥tr♦❞✉❝✐♥❣ t❤❡ ❞❡♥s✐t② ♦❢ st❛t❡s ρ(Ek) ❛♥❞ r❡♣❧❛❝✐♥❣ t❤❡ |uk(0)|2 ✇✐t❤ t❤❡

❛✈❡r❛❣❡ ♦✈❡r t❤❡ ❡♥❡r❣② s✉r❢❛❝❡ 〈|uk(0)|2〉Ek
✳ ❆♥❞ ✇✐t❤ ❛ ❧✐tt❧❡ ❛♣♣r♦①✐♠❛t✐♦♥

❛♥❞ ✐♥t❡❣r❛t✐♥❣ ♦✈❡r t❤❡ ❞❡❧t❛ ❢✉♥❝t✐♦♥✱ ✇❡ ♦❜t❛✐♥

G(T ) =

∫

dE
〈
|uk(0)|2

〉2

E
ρ2(E) f(E)[1− f(E)]. ✭✹✳✹✮

❚♦ ✜♥❛❧❧② ❣❡t ❛ ❡q✉❛t✐♦♥ ✐♥✈♦❧✈✐♥❣ t❤❡ r❡❧❛①❛t✐♦♥ t✐♠❡ T1✱ ❙❧✐❝❤t❡r ❬✹❪ ✉s❡s t❤❡

❢♦❧❧♦✇✐♥❣ r❡❧❛t✐♦♥

1

T1

=
1

2

∑

m,n

Wmn(Em − En)
2

∑

m

E2
m

= −a00
2

∑

m,n,α

〈m|[H, Iα]|n〉 〈n|[H, Iα]|m〉
∑

m

〈m|H2|m〉

= −a00
2

∑

α

Tr{[Iz, Iα]2}

Tr{I2z}

∣
∣
∣
∣
Tr{I2α} = Tr{I2α′}

= a00 =
4

9
πh̄3µ2

0γ
2
eγ

2
n ·G(T ) ✭✹✳✺✮

❙♦✱ ✇❡ ❤❛✈❡ r❡❞✉❝❡❞ t❤❡ ♣r♦❜❧❡♠ t♦ s♦❧✈✐♥❣ t❤❡ ✐♥t❡❣r❛❧ ✭✹✳✹✮✳

✲ ✽ ✲



✹ ❈❛❧❝✉❧❛t✐♦♥s ♦♥ T1 ❢r♦♠ ❙❧✐❝❤t❡r

■♥ ❛ s❡♠✐❝♦♥❞✉❝t♦r✱ t❤❡ ❞❡♥s✐t② ♦❢ st❛t❡s ♥❡❛r t❤❡ ❜❛♥❞ ❡❞❣❡ ✐s ❢♦r t❤❡ ❝♦♥❞✉❝✲

t✐♦♥ ❜❛♥❞ ✭❝❢✳ ❑✐tt❡❧ ❛♥❞ ❑r♦❡♠❡r✱ ✶✾✽✵ ❬✺❪✮

ρC(E) =
V

2π2

(
2m∗

e

h̄2

) 3

2 √

E − EC ✭✹✳✻✮

❛♥❞ ❢♦r t❤❡ ✈❛❧❡♥❝❡ ❜❛♥❞✱ r❡s♣❡❝t✐✈❡❧②✱

ρV (E) =
V

2π2

(
2m∗

h

h̄2

) 3

2 √

EV − E, ✭✹✳✼✮

✇✐t❤ t❤❡ ❡✛❡❝t✐✈❡ ♠❛ss❡s ♦❢ t❤❡ ❡❧❡❝tr♦♥s ❛♥❞ ❤♦❧❡s m∗
e ❛♥❞ m∗

h✳ EC ❛♥❞ EV

❛r❡ t❤❡ ❡♥❡r❣✐❡s ❛t t❤❡ ❜❛♥❞ ❡❞❣❡s ♦❢ t❤❡ ❝♦♥❞✉❝t✐♦♥ ❛♥❞ t❤❡ ✈❛❧❡♥❝❡ ❜❛♥❞✱ s♦

t❤❛t t❤❡ ❜❛♥❞ ❣❛♣ ✐s ∆Eg = EC − EV ✳

❚❤❡ ❞✐str✐❜✉t✐♦♥ ❢✉♥❝t✐♦♥ ❢♦r ❡❧❡❝tr♦♥s ❛♥❞ ❤♦❧❡s ✐s t❤❡ ❋❡r♠✐✲❉✐r❛❝ ❞✐str✐❜✉t✐♦♥

fe/h(E,EF ) =
1

1 + exp
(
±E−EF

kT

) , ✭✹✳✽✮

✇❤❡r❡ t❤❡ + ✐s ❢♦r ❡❧❡❝tr♦♥s ❛♥❞ t❤❡ − ❢♦r ❤♦❧❡s✳ EF ✐s t❤❡ ❋❡r♠✐ ❧❡✈❡❧✱ ✇❤✐❝❤

✐♥ ❣❡♥❡r❛❧❧② ✐s t❡♠♣❡r❛t✉r❡✲❞❡♣❡♥❞❡♥t ❛♥❞ ❤❛s t♦ ❜❡ ❝❛❧❝✉❧❛t❡❞✳ ◆❡✈❡rt❤❡❧❡ss✱

t❤✐s ✐♥t❡❣r❛❧ ♦✈❡r t❤❡ ❋❡r♠✐ ❞✐str✐❜✉t✐♦♥ ✐s ♥♦t ♣r❡❝✐s❡❧② ❛♥❛❧②t✐❝❛❧❧② s♦❧✈❛❜❧❡✱

t❤❡r❡❢♦r❡ ✇❡ ❤❛✈❡ t♦ ♠❛❦❡ ❛♥ ❛♣♣r♦♣r✐❛t❡ ❛♣♣r♦①✐♠❛t✐♦♥✳ ❚❤❡ ♠♦st ♦❢t❡♥ ✉s❡❞

❛♣♣r♦①✐♠❛t✐♦♥ ✐s t❤❡ ❇♦❧t③♠❛♥♥ ❞✐str✐❜✉t✐♦♥✱ ✇❤✐❝❤ ❛♣♣❧✐❡s ✐❢ exp
(
±E−EF

kT

)
≫

1✿

fe/h(E,EF ) =
1

1 + exp
(
±E−EF

kT

) ≈ exp

(

∓E − EF

kT

)

. ✭✹✳✾✮

❲❤❡♥ ✐♥t❡❣r❛t✐♥❣ ♦✈❡r t❤❡ ❝♦♥❞✉❝t✐♦♥ ✭✈❛❧❡♥❝❡✮ ❜❛♥❞✱ t❤✐s ♠❡❛♥s EC −EF ≫
kT ✭EF −EV ≫ kT ✮✱ s♦ t❤❡ ❋❡r♠✐ ❧❡✈❡❧ ❤❛s t♦ ❜❡ s♦♠❡✇❤❡r❡ ✐♥ t❤❡ ❜❛♥❞ ❣❛♣✳

❚❤✐s ✐s ❝❛❧❧❡❞ t❤❡ ♥♦♥✲❞❡❣❡♥❡r❛t❡ ❝❛s❡ ♦r t❤❡ ❝❧❛ss✐❝❛❧ r❡❣✐♠❡✳ ❙♦ ✐t ✐s ✐♥ ♠♦r❡

t❤❛♥ ♦♥❡ ✇❛② ✐♥t❡r❡st✐♥❣ t♦ ❦♥♦✇ ✇❤❡r❡ t❤❡ ❋❡r♠✐ ❧❡✈❡❧ ❧❛②s ✭❛s ❛ ❢✉♥❝t✐♦♥ ♦❢

t❡♠♣❡r❛t✉r❡✮✳

✲ ✾ ✲





✺ ◗✉❛s✐ ❋❡r♠✐ ▲❡✈❡❧s

✺ ◗✉❛s✐ ❋❡r♠✐ ▲❡✈❡❧s

▲❡t ne ❜❡ t❤❡ ❝♦♥❝❡♥tr❛t✐♦♥ ♦❢ ❡❧❡❝tr♦♥s ✐♥ t❤❡ ❝♦♥❞✉❝t✐♦♥ ❜❛♥❞ ❛♥❞ nh t❤❡

❝♦♥❝❡♥tr❛t✐♦♥ ♦❢ ❤♦❧❡s ✐♥ t❤❡ ✈❛❧❡♥❝❡ ❜❛♥❞✳ ▲❡t ❢✉rt❤❡r n
(+)
D ❜❡ t❤❡ ❝♦♥❝❡♥tr❛✲

t✐♦♥ ♦❢ ✭✐♦♥✐③❡❞✮ ❞♦♥♦rs ❛♥❞ n
(−)
A t❤❡ ❝♦♥❝❡♥tr❛t✐♦♥ ♦❢ ✭✐♦♥✐③❡❞✮ ❛❝❝❡♣t♦rs✳ ■♥

❛ ♣✉r❡ ✭♦r ✐♥tr✐♥s✐❝✮ s❡♠✐❝♦♥❞✉❝t♦r t❤❡ ♥✉♠❜❡r ♦❢ ❝♦♥❞✉❝t✐♦♥ ❡❧❡❝tr♦♥s ✇✐❧❧ ❜❡

❡q✉❛❧ t♦ t❤❡ ♥✉♠❜❡r ♦❢ ❤♦❧❡s ❢♦r ❛❧❧ t❡♠♣❡r❛t✉r❡s✱ ✐❢ t❤❡ ❝r②st❛❧ ✐s ❡❧❡❝tr✐❝❛❧❧②

♥❡✉tr❛❧✳ ❚❤✐s ♠❡❛♥s

ne − nh = 0. ✭✺✳✶✮

❚❤✐s ❡q✉❛t✐♦♥ ✐s ❝❛❧❧❡❞ t❤❡ ♥❡✉tr❛❧✐t② ❝♦♥❞✐t✐♦♥✳ ■♥ t❤❡ ❝❛s❡ ♦❢ ❛ ❞♦♣❡❞ s❡♠✐✲

❝♦♥❞✉❝t♦r✱ ✇❡ ❞❡✜♥❡ ∆n ≡ n+
D − n−

A✳ ❚❤❡♥ t❤❡ ♥❡✉tr❛❧✐t② ❝♦♥❞✐t✐♦♥ t✉r♥s

✐♥t♦

ne − nh = ∆n = n+
D − n−

A. ✭✺✳✷✮

❍♦✇❡✈❡r✱ t❤✐s r❡❧❛t✐♦♥ ✐♠♣❧✐❡s ❛ t♦t❛❧ t❤❡r♠❛❧ ❡q✉✐❧✐❜r✐✉♠ ❜❡t✇❡❡♥ t❤❡ ❡❧❡❝tr♦♥s

❛♥❞ ❤♦❧❡s✱ ✇❤✐❝❤ ❞♦❡s ♥♦t ❛♣♣❧② ✐♥ ♦✉r s✐t✉❛t✐♦♥ ✭❛t ❧❡❛st ❛t ♥♦t t♦♦ ❤✐❣❤

t❡♠♣❡r❛t✉r❡s✮✳✹

❆t t❤❡ ❡♥❞ ♦❢ t❤❡ ♣r❡♣❛r❛t✐♦♥ ♦❢ t❤❡ s❛♠♣❧❡✱ t❤❡ ❞♦♥♦rs ❣❡ts ♦♣t✐❝❛❧❧② ✐♦♥✐③❡❞

❛♥❞ t❤❡✐r ❡❧❡❝tr♦♥s ❛r❡ ❡①❝✐t❡❞ ✐♥t♦ t❤❡ ❝♦♥❞✉❝t✐♦♥ ❜❛♥❞✱ ✇❤✐❧❡ t❤❡ ❤♦❧❡s ✐♥

t❤❡ ✈❛❧❡♥❝❡ ❜❛♥❞ ❛r❡ ✐♥ ❛ t❤❡r♠❛❧ ❡q✉✐❧✐❜r✐✉♠ ✇✐t❤ t❤❡ ❤♦❧❡s ✐♥ t❤❡ ❛❝❝❡♣t♦r

st❛t❡s✳ ❚❤✉s ✇❡ ❤❛✈❡ ♥♦ ❧♦♥❣❡r ♦♥❡ ❋❡r♠✐ ❧❡✈❡❧ EF ❜✉t t✇♦ q✉❛s✐ ❋❡r♠✐ ❧❡✈❡❧s✱

♦♥❡ ❢♦r t❤❡ ❝♦♥❞✉❝t✐♦♥ ❡❧❡❝tr♦♥s EQC
F ❛♥❞ ♦♥❡ ❢♦r t❤❡ ❤♦❧❡s ✐♥ t❤❡ ✈❛❧❡♥❝❡ ❜❛♥❞

❛♥❞ t❤❡ ❛❝❝❡♣t♦r st❛t❡s EQV
F ✳✺ ❙♦✱ ✇❡ ❤❛✈❡ t♦ ❧♦♦❦ ❛t t❤❡ ❡❧❡❝tr♦♥s ❛♥❞ ❤♦❧❡s

s❡♣❛r❛t❡❧②✳

✹❚♦ ❜❡ ❡①❛❝t✱ t❤❡ ♥❡✉tr❛❧✐t② ❝♦♥❞✐t✐♦♥ ❡✈❡♥ ❤♦❧❞s tr✉❡ ✐♥ ❛ q✉❛s✐ ❡q✉✐❧✐❜r✐✉♠✱ ❛s ✐♥ ♦✉r
❝❛s❡✳ ❇✉t ✐t ✐s ♥♦t ❤❡❧♣❢✉❧ ❢♦r ❝❛❧❝✉❧❛t✐♥❣ t❤❡ q✉❛s✐ ❋❡r♠✐ ❧❡✈❡❧ ✭s❡❡ ❜❡❧♦✇✮✳

✺▼♦r❡ ♣r❡❝✐s❡❧②✱ t❤❡r❡ ✐s ❛ t❤✐r❞ q✉❛s✐ ❋❡r♠✐ ❧❡✈❡❧ ❢♦r t❤❡ ❞♦♥♦r st❛t❡s✱ s♦♠❡✇❤❡r❡ ❜❡✲
❧♦✇ t❤❡✐r ❡♥❡r❣② ❧❡✈❡❧ ED✳ ❇✉t t❤❡ ✐♦♥✐③❛t✐♦♥ ♦❢ t❤❡ ❞♦♥♦r st❛t❡s ❞♦ ♥♦t ❝❤❛♥❣❡ ✇✐t❤
t❡♠♣❡r❛t✉r❡✱ s♦ t❤✐s ✐s ♥♦ ✐♥t❡r❡st✐♥❣ ❝♦♥s✐❞❡r❛t✐♦♥✳

✲ ✶✶ ✲



✺✳✶ ❊❧❡❝tr♦♥s ✺ ◗✉❛s✐ ❋❡r♠✐ ▲❡✈❡❧s

✺✳✶ ❊❧❡❝tr♦♥s

❋♦r t❤❡ ❝♦♥❞✉❝t✐♦♥ ❡❧❡❝tr♦♥s✱ ♥❡❣❧❡❝t✐♥❣ t❤❡ t❤❡r♠❛❧ ❡①❝✐t❛t✐♦♥ ❢r♦♠ t❤❡ ✈❛✲

❧❡♥❝❡ ❜❛♥❞✱ ♦♥❡ ❤❛s

nD = n+
D = ne =

1

V

∫

❝♦♥❞✉❝t✐♦♥ ❜❛♥❞

dE ρC(E)fe(E,EQC
F ), ✭✺✳✸✮

✇✐t❤ V t❤❡ ✈♦❧✉♠❡ ♦❢ t❤❡ ❝r②st❛❧✳

❆t ❝r②♦❣❡♥✐❝ t❡♠♣❡r❛t✉r❡s✱ ✇❡ ❡①♣❡❝t t❤❛t t❤❡ ❞❡❣❡♥❡r❛t❡ ❝❛s❡ ❛♣♣❧✐❡s ❛♥❞ t❤❡

q✉❛s✐ ❋❡r♠✐ ❧❡✈❡❧ ❧❛②s ✐♥ t❤❡ ❝♦♥❞✉❝t✐♦♥ ❜❛♥❞✱ ❜❡❝❛✉s❡ ♦❢ t❤❡ ♥♦♥✲✈❛♥✐s❤✐♥❣

♥✉♠❜❡r ♦❢ ❝♦♥❞✉❝t✐♦♥ ❡❧❡❝tr♦♥s ❛t ✵❑✳ ❲✐t❤ ✐♥❝r❡❛s✐♥❣ t❡♠♣❡r❛t✉r❡ t❤❡ q✉❛s✐

❋❡r♠✐ ❧❡✈❡❧ s❤♦✉❧❞ ❢❛❧❧ ✐♥t♦ t❤❡ ❜❛♥❞ ❣❛♣ ❛♥❞ t❤❡ ❝❧❛ss✐❝❛❧ r❡❣✐♠❡ s❤♦✉❧❞ ❛♣♣❧②✳

❙✐♥❝❡ t❤❡r❡ ✇✐❧❧ ❜❡ ♦♥❧② ❢r❡❡ ❝❛rr✐❡rs ♥❡❛r t❤❡ ❜❛♥❞ ❡❞❣❡✱ t❤❡ ❤✐❣❤❡r ❧✐♠✐t ♦❢

t❤❡ ✐♥t❡❣r❛❧ ❝❛♥ ❜❡ ❝❤♦s❡♥ ❛s ∞✻✱ ❣✐✈✐♥❣ ✉s ✭✉s✐♥❣ ❡q✳ ✭✹✳✻✮ ❛♥❞ ✭✹✳✽✮✮

nD =

∞∫

EC

dE
1

2π2

(
2m∗

e

h̄2

) 3

2

√
E − EC

1 + exp
(

E−EQC
F

kT

)

= 2

(
m∗

ekT

2πh̄2

) 3

2




2√
π

∞∫

0

dX

√
X

1 + exp (X − η)





=: 2

(
m∗

ekT

2πh̄2

) 3

2

F1/2(η),

✇❤❡r❡ t❤❡ s✉❜st✐t✉t✐♦♥ X = (E−EC)/kT ✱ η = (EQC
F −EC)/kT ❤❛s ❜❡❡♥ ♠❛❞❡✳

Fj(η) ✐s ❝❛❧❧❡❞ t❤❡ ✭❝♦♠♣❧❡t❡✮ ❋❡r♠✐✲❉✐r❛❝ ✐♥t❡❣r❛❧✳ ❋♦r j = 1/2 t❤❡r❡ ✐s ❛♥

❛♣♣r♦①✐♠❛t✐♦♥ ✇❤✐❝❤ ✐s s❡♣❛r❛t❡❧② ❞❡✜♥❡❞ ♦♥ t✇♦ ✈❛❧✉❡ ❞♦♠❛✐♥s ❛♥❞ ✇❤✐❝❤

r❡❧❛t✐✈❡ ❡rr♦r ✐s ♥♦t ❜✐❣❣❡r t❤❛♥ ✸✪ ✭❝❢✳ ❇❧❛❦❡♠♦r❡✱ ✶✾✽✷ ❬✶❪✮✿

F1/2 =







4

3
√
π

(

η2 +
π2

6

) 3

4

❢♦r 1.3 ≤ η < ∞

1

0.27 + exp(−η)
❢♦r −∞ < η < 1.3

✭✺✳✹✮

✻❚❤❡ s❛♠❡ tr✐❝❦ ✇✐❧❧ ❜❡ ✉s❡❞ ❢♦r t❤❡ ✐♥t❡❣r❛t✐♦♥ ♦✈❡r t❤❡ ✈❛❧❡♥❝❡ ❜❛♥❞✱ t♦ s❡t t❤❡ ❧♦✇❡r
❧✐♠✐t t♦ −∞✳

✲ ✶✷ ✲



✺ ◗✉❛s✐ ❋❡r♠✐ ▲❡✈❡❧s ✺✳✶ ❊❧❡❝tr♦♥s

❯s✐♥❣ t❤❡ ❛♣♣r♦①✐♠❛t✐♦♥ ❢♦r η < 1.3✱ ❣✐✈❡s ✉s

nD = 2

(
m∗

ekT

2πh̄2

) 3

2 1

0.27 + exp(−η)

⇔ η(T ) = − ln

{

2

nD

(
m∗

ekT

2πh̄2

) 3

2

− 0.27

}

✭✺✳✺✮

⇔ EQC
F (T ) = EC − kT ln

{

2

nD

(
m∗

ekT

2πh̄2

) 3

2

− 0.27

}

. ✭✺✳✻✮

❚♦ ❝❤❡❝❦ t❤❡ ❛♣♣❧✐❝❛❜✐❧✐t② ♦❢ t❤❡ ❛♣♣r♦①✐♠❛t✐♦♥✱ ♦♥❡ ❝❛♥ ❝❛❧❝✉❧❛t❡ t❤❡ ✈❛❧✉❡

η(T = 0.1K) = −5.8 < 1.3 ✇❤✐❝❤ s❤♦✇s t❤❛t t❤❡ ❞❡❣❡♥❡r❛t❡ ❝❛s❡ ❛♣♣❧✐❡s ♦♥❧②

❢♦r ✈❡r② ❧♦✇ t❡♠♣❡r❛t✉r❡s✱ ❞✉❡ t♦ ❛ ❧♦✇ ❞♦♥♦r ❝♦♥❝❡♥tr❛t✐♦♥✳ ❖♥❡ ❝❛♥ ❢✉rt❤❡r

❝❛❧❝✉❧❛t❡ η(T = 0.1K) ❢♦r t❤❡ ❝❧❛ss✐❝❛❧ r❡❣✐♠❡✳ ❖♥❡ ♦❜t❛✐♥s t❤❡ ❡q✉❛t✐♦♥

❢♦r t❤❡ ❝❧❛ss✐❝❛❧ r❡❣✐♠❡ ❜② ❞r♦♣♣✐♥❣ t❤❡ 0.27 ✐♥ ❡q✉❛t✐♦♥s ✭✺✳✹✮✲✭✺✳✻✮✱ ✇❤✐❝❤

❣✐✈❡s ✉s t❤❡ s❛♠❡ ✈❛❧✉❡ ✉♣ t♦ t❤❡ t❤✐r❞ ❞❡❝✐♠❛❧ ♣❧❛❝❡✳ ❙♦✱ t❤❡ ❇♦❧t③♠❛♥♥

❞✐str✐❜✉t✐♦♥ ✐s ❡✈❡♥ ❛t ❝r②♦❣❡♥✐❝ t❡♠♣❡r❛t✉r❡s ❛ ❣♦♦❞ ❛♣♣r♦①✐♠❛t✐♦♥ ❢♦r t❤❡

❋❡r♠✐ ❞✐str✐❜✉t✐♦♥✳ ❚❤✐s ❣✐✈❡s ✉s

ne =
1

V

∞∫

EC

dE ρC(E)fe(E,EQC
F )

= 2

(
m∗

ekT

2πh̄2

) 3

2

exp

(

EQC
F − EC

kT

)


2√
π

∞∫

0

dX
√
X exp(X)





︸ ︷︷ ︸

=1

✭✺✳✼✮

❛♥❞ ❛♥❛❧♦❣♦✉s❧②

nh =
1

V

EV∫

−∞

dE ρV (E)fh(E,EQV
F ) = 2

(
m∗

hkT

2πh̄2

) 3

2

exp

(

−EQV
F − EV

kT

)

. ✭✺✳✽✮

●♦✐♥❣ ♥♦✇ t♦ ❤✐❣❤❡r t❡♠♣❡r❛t✉r❡s✱ t❤❡ t❤❡r♠❛❧ ❡①❝✐t❛t✐♦♥ ❜❡t✇❡❡♥ t❤❡ ✈❛❧❡♥❝❡

❛♥❞ t❤❡ ❝♦♥❞✉❝t✐♦♥ ❜❛♥❞ ✇✐❧❧ ♥♦t ❜❡ ♥❡❣❧❡❝t✐❜❧❡ ❛♥②♠♦r❡✳ ❋r♦♠ t❤✐s ♣♦✐♥t

♦♥✇❛r❞s✱ ❛ t❤❡r♠❛❧ ❡q✉✐❧✐❜r✐✉♠ ❜❡t✇❡❡♥ t❤❡ ❡❧❡❝tr♦♥s ❛♥❞ ❤♦❧❡s ❝♦✉❧❞ ❛r✐s❡✳

❚❤❡ t❤❡r♠❛❧❧② ❣❡♥❡r❛t❡❞ ❝♦♥❞✉❝t✐♦♥ ❡❧❡❝tr♦♥s ❝❛♥ ✭✐♥ ❣♦♦❞ ❛♣♣r♦①✐♠❛t✐♦♥✮ ❜❡

❞❡s❝r✐❜❡❞ ✇✐t❤ t❤❡ ❋❡r♠✐ ❞✐str✐❜✉t✐♦♥ ❢♦r ❛♥ ✐♥tr✐♥s✐❝ s❡♠✐❝♦♥❞✉❝t♦r✳

✲ ✶✸ ✲



✺✳✶ ❊❧❡❝tr♦♥s ✺ ◗✉❛s✐ ❋❡r♠✐ ▲❡✈❡❧s

❚❤✉s✱ t♦ t❛❦❡ ❛❝❝♦✉♥t ❢♦r t❤♦s❡ ❡①tr❛ ❝♦♥❞✉❝t✐♦♥ ❡❧❡❝tr♦♥s✱ ♦♥❡ ❝❛♥ ❛❞❞ ❛♥

❡①tr❛ t❡r♠ t♦ ❡q✳ ✭✺✳✸✮✿

nD = ne −
1

V

∞∫

EC

dE ρC(E)fe(E,E0
F )

⇔ nD = 2

(
m∗

ekT

2πh̄2

) 3

2

[

exp

(

EQC
F − EC

kT

)

− exp

(
E0

F − EC

kT

)]

⇔ exp

(

EQC
F − EC

kT

)

=
nD

2

(
2πh̄2

m∗
ekT

) 3

2

+ exp

(
E0

F − EC

kT

)

, ✭✺✳✾✮

✇❤❡r❡ ✇❡ ❤❛✈❡ ✉s❡❞ t❤❡ r❡❧❛t✐♦♥ ✭✺✳✼✮✳ ❚♦ ❝❛❧❝✉❧❛t❡ t❤❡ ❋❡r♠✐ ❧❡✈❡❧ E0
F (T )✱ ✇❡

st❛rt ✇✐t❤ t❤❡ ♥❡✉tr❛❧✐t② ❝♦♥❞✐t✐♦♥ ❢♦r ❛ ♣✉r❡ s❡♠✐❝♦♥❞✉❝t♦r ✭✺✳✶✮✱ ✉s✐♥❣ ❛❣❛✐♥

✭✺✳✼✮ ❛♥❞ ✭✺✳✽✮✱

ne = nh

⇔ 2

(
m∗

ekT

2πh̄2

) 3

2

exp

(
E0

F − EC

kT

)

= 2

(
m∗

hkT

2πh̄2

) 3

2

exp

(

−E0
F − EV

kT

)

⇔ exp

(
E0

F − EC

kT

)

=

(
m∗

h

m∗
e

) 3

4

exp

(

−∆Eg

2kT

)

✭✺✳✶✵✮

⇔ exp

(
E0

F − EV

kT

)

=

(
m∗

h

m∗
e

) 3

4

exp

(
∆Eg

2kT

)

. ✭✺✳✶✶✮

❲✐t❤ ❡q✳ ✭✺✳✾✮ ❛♥❞ ✭✺✳✶✵✮ ✇❡ ❤❛✈❡

exp

(

EQC
F − EC

kT

)

=
nD

2

(
2πh̄2

m∗
ekT

) 3

2

+

(
m∗

h

m∗
e

) 3

4

exp

(

−∆Eg

2kT

)

✭✺✳✶✷✮

⇔ EQC
F = EC + kT ln

{

nD

2

(
2πh̄2

m∗
ekT

) 3

2

+

(
m∗

h

m∗
e

) 3

4

exp

(

−∆Eg

2kT

)}

✭✺✳✶✸✮

❙♦ t❤❛t ❢♦r s♠❛❧❧ T t❤❡ r❡s✉❧t ✐s ❡q✉❛❧ t♦ ♥❡❣❧❡❝t✐♥❣ t❤❡ t❤❡r♠❛❧ ❛❜♦✈❡✲❣❛♣

❡①❝✐t❛t✐♦♥

EQC
F = EC − kT ln

{

2

nD

(
m∗

ekT

2πh̄2

) 3

2

}

✭✺✳✶✹✮

✲ ✶✹ ✲



✺ ◗✉❛s✐ ❋❡r♠✐ ▲❡✈❡❧s ✺✳✶ ❊❧❡❝tr♦♥s

❛♥❞ ❢♦r ❧❛r❣❡ T ✐t ❜❡❝♦♠❡s t❤❡ r❡s✉❧t ♦❢ ❛♥ ✐♥tr✐♥s✐❝ s❡♠✐❝♦♥❞✉❝t♦r ✭✺✳✶✵✮

EQC
F =

EC + EV

2
− 3

4
kT ln

(
m∗

e

m∗
h

)

. ✭✺✳✶✺✮

✲ ✶✺ ✲



✺✳✷ ❍♦❧❡s ✺ ◗✉❛s✐ ❋❡r♠✐ ▲❡✈❡❧s

✺✳✷ ❍♦❧❡s

❋♦r t❤❡ ❤♦❧❡s ✐t ✐s ❛ ❧✐tt❧❡ ♠♦r❡ ❝♦♠♣❧✐❝❛t❡❞ ❜❡❝❛✉s❡ t❤❡ ❛❝❝❡♣t♦rs ❛r❡ ✐♥ ❣❡♥✲

❡r❛❧❧② ♥♦t ❢✉❧❧② ✐♦♥✐③❡❞✳ ❚❤❡ t❤❡r♠❛❧ ❛✈❡r❛❣❡ ♦❝❝✉♣❛♥❝② ♦❢ t❤❡ ❛❝❝❡♣t♦r st❛t❡s

✐s ✭❝❢✳ ❑✐tt❡❧ ❛♥❞ ❑r♦❡♠❡r✱ ✶✾✽✵ ✭♣✳✸✼✵✮ ❬✺❪✮

f(A−) =
1

1 + 2 exp
(

EA−EQV
F

kT

) ✭✺✳✶✻✮

⇒ f(A0) = 1− f(A−) =
1

1 + 1
2
exp

(
EQV

F
−EA

kT

) , ✭✺✳✶✼✮

✇✐t❤ EA t❤❡ ❡♥❡r❣② ❧❡✈❡❧ ♦❢ t❤❡ ❛❝❝❡♣t♦r st❛t❡s✳

❋♦r ❝r②♦❣❡♥✐❝ t❡♠♣❡r❛t✉r❡s ✇❡ ✇♦✉❧❞ ❡①♣❡❝t t❤❡ q✉❛s✐ ❋❡r♠✐ ❧❡✈❡❧ ♦❢ t❤❡ ❤♦❧❡s✱

EQV
F ✱ t♦ ❜❡ s♦♠❡✇❤❡r❡ ❜❡t✇❡❡♥ EV ❛♥❞ EA✱ ❜❡❝❛✉s❡ ❛t ✵❑ ❛❧❧ t❤❡ ❤♦❧❡s ✇✐❧❧

❜❡ ✐♥ t❤❡ ❛❝❝❡♣t♦r st❛t❡s✳ ❲✐t❤ ❤✐❣❤❡r t❡♠♣❡r❛t✉r❡ t❤❡ ❛❝❝❡♣t♦r st❛t❡s s❤♦✉❧❞

✐♦♥✐③❡ ❛♥❞ t❤❡ q✉❛s✐ ❋❡r♠✐ ❧❡✈❡❧ s❤♦✉❧❞ r✐s❡ ✉♥t✐❧ ❛❣❛✐♥ t❤❡r♠❛❧ ❡①❝✐t❛t✐♦♥s

❜❡t✇❡❡♥ t❤❡ t✇♦ ❜❛♥❞s ✇✐❧❧ ❛r✐s❡✳

❚♦ ❞❡s❝r✐❜❡ t❤❡ q✉❛s✐ ❡q✉✐❧✐❜r✐✉♠ ♦❢ t❤❡ ❤♦❧❡s✱ ✇❡ ❝❛♥ ❛❞❥✉st t❤❡ ♥❡✉tr❛❧✐t②

❝♦♥❞✐t✐♦♥ ✭✺✳✷✮ ✐♥t♦

nh = n−
A = nA · f(A−), ✭✺✳✶✽✮

✇❤❡r❡ ✇❡ ❛❣❛✐♥ ❛r❡ ❣♦✐♥❣ t♦ ❛❞❞ ❛♥ ❡①tr❛ t❡r♠ ❢♦r t❤❡ t❤❡r♠❛❧ ❛❜♦✈❡✲❣❛♣

❡①❝✐t❛t✐♦♥s✳ ❲❡ ❛❞❞✐t✐♦♥❛❧❧② ❞❡✜♥❡ ❢♦r r❡❛s♦♥s ♦❢ ❝❧❛r✐t② ❛♥❞ ❝♦♠♣r❡❤❡♥s✐❜✐❧✐t②

cT : =
nA

2

(
2πh̄2

m∗
hkT

) 3

2

Xi : = exp

(
Ei − EV

kT

)

.

❚❤✐s ❣✐✈❡s ✉s ❢♦r t❤❡ ❛❞❞✐t✐♦♥❛❧ t❡r♠

⇒ 1

V

EV∫

−∞

dE ρV (E)fh(E,E0
F )

(5.8)
= 2

(
m∗

hkT

2πh̄2

) 3

2

exp

(
EV − E0

F

kT

)

(5.11)
=

nA

cT

(
m∗

e

m∗
h

) 3

4

exp

(

−∆Eg

2kT

)

=
nA

cT

(m∗
e/m

∗
h)

3

4

√
XC

✲ ✶✻ ✲



✺ ◗✉❛s✐ ❋❡r♠✐ ▲❡✈❡❧s ✺✳✷ ❍♦❧❡s

❙♦✱ ✇❡ ❤❛✈❡ ✇✐t❤ ❡q✳ ✭✺✳✶✶✮

nA · f(A−) = nh −
1

V

EV∫

−∞

dE ρV (E)fh(E,E0
F )

⇒ nA

1 + 2 XA

XQV
F

=
nA

cT

1

XQV
F

− nA

cT

(m∗
e/m

∗
h)

3

4

√
XC

⇔ cT =
1

XQV
F

+ 2
XA

(

XQV
F

)2 − (m∗
e/m

∗
h)

3

4

√
XC

(

1 + 2
XA

XQV
F

)

⇔ 0 =

(

XA

XQV
F

)2

+

[

1

2
−
(
m∗

e

m∗
h

) 3

4 XA√
XC

]

XA

XQV
F

−
(
m∗

e

m∗
h

) 3

4 XA

2
√
XC

− cTXA

2

Xi>0⇔ XA

XQV
F

=

(
m∗

e

m∗
h

) 3

4 XA

2
√
XC

− 1

4
+

√
√
√
√

[(
m∗

e

m∗
h

) 3

4 XA

2
√
XC

+
1

4

]2

+
cTXA

2
,

✭✺✳✶✾✮

✇❤❡r❡ ✐♥ t❤❡ ❧❛st st❡♣ ✇❡ ❤❛✈❡ ✉s❡❞

[(
m∗

e

m∗
h

) 3

4 XA

2
√
XC

− 1

4

]2

+

(
m∗

e

m∗
h

) 3

4 XA

2
√
XC

=

[(
m∗

e

m∗
h

) 3

4 XA

2
√
XC

+
1

4

]2

.

◆♦✇ ✇❡ ❝❛♥ ❝♦♥s✐❞❡r ❞✐✛❡r❡♥t t❡♠♣❡r❛t✉r❡ r❡❣✐♠❡s t♦ s✐♠♣❧✐❢② t❤✐s ❡q✉❛t✐♦♥✳

XA√
XC

= exp

(

−EC − EV

2kT
+

EA − EV

kT

)

≈ exp

(

−∆Eg

2kT

)

❚❤✐s t❡r♠ ✈❛♥✐s❤❡s ❢♦r T → 0 ❛♥❞ ❜❡❝♦♠❡s r❡❧❡✈❛♥t ❢♦r ✈❡r② ❤✐❣❤ t❡♠♣❡r❛t✉r❡s✳

❖♥ t❤❡ ❝♦♥tr❛r②✱ cT · XA ∝ T−3/2 exp[(EA − EV )/kT ] ❣❡ts r❡❧❡✈❛♥t ❢♦r ❧♦✇

t❡♠♣❡r❛t✉r❡s ❛♥❞ s♠❛❧❧ ❢♦r ❤✐❣❤ t❡♠♣❡r❛t✉r❡s✳ ❇✉t t❤❡r❡ ✐s ❛❧s♦ ❛ t❤✐r❞ r❡❣✐♠❡

❛t ✐♥t❡r♠❡❞✐❛t❡ t❡♠♣❡r❛t✉r❡✱ ✇❤❡r❡ ♦♥❡ ❝❛♥ ♥❡❣❧❡❝t t❤❡ XA/
√
XC✲t❡r♠ ✇❤✐❧❡

cT ·XA ≈ cT ✱ ✇❤✐❝❤ ✐s st✐❧❧ s♠❛❧❧ ❜❡❝❛✉s❡ ♦❢ t❤❡ h̄3✳

✲ ✶✼ ✲



✺✳✷ ❍♦❧❡s ✺ ◗✉❛s✐ ❋❡r♠✐ ▲❡✈❡❧s

▲♦✇ t❡♠♣❡r❛t✉r❡✿

XA

XQV
F

≈
√

cTXA

2

⇒ EQV
F =

EA + EV

2
+ kT ln

{

2√
nA

(
m∗

hkT

2πh̄2

) 3

4

}

✭✺✳✷✵✮

■♥t❡r♠❡❞✐❛t❡ t❡♠♣❡r❛t✉r❡✿

XA

XQV
F

≈ 1

4

(

−1 +
√

1 + 8cTXA

)

≈ cTXA

⇒ EQV
F = EV + kT ln

{

2

nA

(
m∗

hkT

2πh̄2

) 3

2

}

✭✺✳✷✶✮

❍✐❣❤ t❡♠♣❡r❛t✉r❡✿

XA

XQV
F

≈
(
m∗

e

m∗
h

) 3

4 XA√
XC

⇒ EQV
F =

EC + EV

2
− 3

4
kT ln

(
m∗

e

m∗
h

)

✭✺✳✷✷✮

❚❤❡ ✇❤♦❧❡ t❡♠♣❡r❛t✉r❡ ❞❡♣❡♥❞❡♥❝❡ ♦❢ t❤❡ q✉❛s✐ ❋❡r♠✐ ❧❡✈❡❧s ♦❢ ❜♦t❤ t❤❡

❤♦❧❡s ❛♥❞ t❤❡ ❡❧❡❝tr♦♥s ❛r❡ s❤♦✇♥ ✐♥ ✜❣✳ ✶✳ ❖♥❡ ❝❛♥ ♥♦✇ s❡❡ t❤❛t ✐♥ t❤❡ ❤✐❣❤

t❡♠♣❡r❛t✉r❡ r❡❣✐♠❡ EQV
F = EQC

F = E0
F ❤♦❧❞s tr✉❡✱ ✇❤✐❝❤ ✐s t❤❡ ❝❛s❡ ✐♥ ❛♥

✐♥tr✐♥s✐❝ s❡♠✐❝♦♥❞✉❝t♦r✳ ❋✉rt❤❡r♠♦r❡✱ t❤❡ s❡❝♦♥❞ r❡❣✐♠❡ ❤❛s ❡①❛❝t t❤❡ s❛♠❡

❢♦r♠ ❛s t❤❡ ❧♦✇ t❡♠♣❡r❛t✉r❡ r❡❣✐♠❡ ♦❢ EQC
F ✇❤✐❝❤ ✐♥❞✐❝❛t❡s t❤❛t ✐♥ t❤✐s r❡❣✐♠❡

t❤❡ ❛❝❝❡♣t♦rs ❛r❡ ❢✉❧❧② ✐♦♥✐③❡❞✳ ■♥ t❤❡ s✉♣♣❧❡♠❡♥t❛r② ♠❛t❡r✐❛❧s ❢♦r t❤❡ ♣❛♣❡r

♦❢ ❙❛❡❡❞✐ ❡t ❛❧✳ ✭✷✵✶✸✮ ❬✸❪✱ t❤❡ ❛✉t❤♦rs st❛t❡❞ t❤❛t t❤❡ ♣❡r❝❡♥t❛❣❡ ♦❢ ✐♦♥✐③❡❞

❛❝❝❡♣t♦rs ✇♦✉❧❞ ❜❡ ♦♥❡ ♣❡r❝❡♥t ❛t ✸✵❑ ❛♥❞ ❛t ❛ t❡♠♣❡r❛t✉r❡ ♦❢ ✼✵❑ ❛❧♠♦st

❛❧❧ t❤❡ ❛❝❝❡♣t♦rs ✇♦✉❧❞ ❜❡ ✐♦♥✐③❡❞✳ ◆♦✇✱ ♦♥❡ ❝❛♥ s❡❡ t❤❛t ❛t ✸✵❑✱ ✐♥❞❡❡❞✱

♦♥❡ ♣❡r❝❡♥t ♦❢ t❤❡ ❛❝❝❡♣t♦rs ❛r❡ ✐♦♥✐③❡❞ ✭s❡❡ ✜❣✳ ✷✮ ❛♥❞ ❛t ✼✵❑ ♦♥❧② t❡♥

♣❡r❝❡♥t ♦❢ ♥❡✉tr❛❧ ❞♦♥♦rs r❡♠❛✐♥✳ ❚❤✐s s♠❛❧❧ t❡♠♣❡r❛t✉r❡ ✐♥t❡r✈❛❧ ✐s ❞✉❡ t♦

t❤❡ s♠❛❧❧ ✇✐❞t❤ ♦❢ t❤❡ ❋❡r♠✐ ❞✐str✐❜✉t✐♦♥✱ 2kT ✱ ❛s ✐t ♣❛ss❡s t❤❡ ❡♥❡r❣② ❧❡✈❡❧ ♦❢

t❤❡ ❛❝❝❡♣t♦rs✳

✲ ✶✽ ✲



✺ ◗✉❛s✐ ❋❡r♠✐ ▲❡✈❡❧s ✺✳✷ ❍♦❧❡s

❋✐❣✉r❡ ✶ ✕ ❚❤❡ q✉❛s✐ ❋❡r♠✐ ❧❡✈❡❧s ♦❢ t❤❡ ❝♦♥❞✉❝t✐♦♥ ❡❧❡❝tr♦♥s ✭❜❧✉❡✮ ❛♥❞ t❤❡ ❤♦❧❡s

✭r❡❞✮ ❛s ❛ ❢✉♥❝t✐♦♥ ♦❢ t❡♠♣❡r❛t✉r❡✳

❋✐❣✉r❡ ✷ ✕ ❚❤❡ q✉❛s✐ ❋❡r♠✐ ❧❡✈❡❧ ♦❢ t❤❡ ❤♦❧❡s ✭r❡❞✮ ❛♥❞ t❤❡ r❡♠❛✐♥✐♥❣ r❡❧❛t✐✈❡ ❛♠♦✉♥t

♦❢ ♥❡✉tr❛❧ ❛❝❝❡♣t♦rs ✭❣r❡❡♥✮✱ ❜♦t❤ ❛s ❛ ❢✉♥❝t✐♦♥ ♦❢ t❡♠♣❡r❛t✉r❡✳ ❚❤❡ ✐♦♥✐③❛t✐♦♥ ❧❡✈❡❧s

♦❢ ✶✪✱ ✶✵✪✱ ✾✵✪ ❛♥❞ ✾✾✪ ❛r❡ ✐♥❞✐❝❛t❡❞✳ ❚❤❡ ❡rr♦r ❜❛rs ❛r❡ ❥✉st ±kT ❛s ❛ ♠❡❛s✉r❡

❢♦r t❤❡ ✇✐❞t❤ ♦❢ t❤❡ ❋❡r♠✐ ❞✐str✐❜✉t✐♦♥✳

✲ ✶✾ ✲



✺✳✸ ❚♦t❛❧ ❊q✉✐❧✐❜r✐✉♠ ✺ ◗✉❛s✐ ❋❡r♠✐ ▲❡✈❡❧s

✺✳✸ ❚♦t❛❧ ❊q✉✐❧✐❜r✐✉♠

❙♦✱ ❢♦r ❤✐❣❤ t❡♠♣❡r❛t✉r❡s t❤❡ q✉❛s✐ ❋❡r♠✐ ❧❡✈❡❧s ✇✐❧❧ ♠♦✈❡ t♦❣❡t❤❡r ❛♥❞ t❤❡

s②st❡♠ ❝❛♥ t❤❡♥ ❜❡ ❞❡s❝r✐❜❡❞ ❜② ♦♥❡ ❋❡r♠✐ ❧❡✈❡❧✱ ❛s ✐♥ ❛ t♦t❛❧ ❡q✉✐❧✐❜r✐✉♠✳ ❇✉t

✐t ✐s ♣♦ss✐❜❧❡ t❤❛t t❤✐s t♦t❛❧ ❡q✉✐❧✐❜r✐✉♠ ❡✈❡♥ ♦❝❝✉rs ❛t ❛ ❧♦✇❡r t❡♠♣❡r❛t✉r❡✳

❚❤✐s ✇♦✉❧❞ ✐♥✈♦❧✈❡ t❤❛t t❤❡ q✉❛s✐ ❋❡r♠✐ ❧❡✈❡❧s s✉❞❞❡♥❧② ❥✉♠♣ t♦❣❡t❤❡r✱ ❝❛✉s❡❞

❜② ❡❧❡❝tr♦♥✲❤♦❧❡ r❡❝♦♠❜✐♥❛t✐♦♥✳ ❚❤❡r❡❢♦r❡✱ ✇❡ ✇✐❧❧ ♥♦✇ ❝♦♥s✐❞❡r ❛ t♦t❛❧ ❡q✉✐✲

❧✐❜r✐✉♠✳ ❙♦ ✇❡ st❛rt ✇✐t❤ t❤❡ ♥❡✉tr❛❧✐t② ❝♦♥❞✐t✐♦♥ ❢♦r ❞♦♣❡❞ s❡♠✐❝♦♥❞✉❝t♦rs

✭✺✳✷✮✿

ne − nh = n+
D − n−

A ≈ nD − nA,

✇❤❡r❡ ✇❡ ✉s❡ t❤❛t t❤❡ ❡q✉✐❧✐❜r✐✉♠ ♦♥❧② s❤♦✇s ✉♣ ❢♦r ❤✐❣❤ t❡♠♣❡r❛t✉r❡s ✇❤✐❧❡

t❤❡ ❛❝❝❡♣t♦rs ❛r❡ ❛❧r❡❛❞② ❢✉❧❧② ✐♦♥✐③❡❞✳ ❋♦r ne ❛♥❞ nh ✇❡ ❛❣❛✐♥ ✉s❡ ❡q✳ ✭✺✳✼✮

❛♥❞ ✭✺✳✽✮✳ ❲❡ ❛❧s♦ ✉s❡ t❤❡ ❢♦❧❧♦✇✐♥❣ ❞❡✜♥✐t✐♦♥s

c̃T : =
nA − nD

2

(
2πh̄2

m∗
hkT

) 3

2

Xi : = exp

(
Ei − EV

kT

)

⇒ nD − nA = 2

(
m∗

hkT

2πh̄2

) 3

2

[(
m∗

e

m∗
h

) 3

2

exp

(
EF − EC

kT

)

− exp

(
EV − EF

kT

)]

⇒ 0 =

(
m∗

e

m∗
h

) 3

2 XF

XC

− 1

XF

+ c̃T

⇔ 0 = X−2
F − c̃TX

−1
F −

(
m∗

e

m∗
h

) 3

2 1

XC

XF>0⇔ 1

XF

=
c̃T
2

+

√
(
c̃T
2

)2

+

(
m∗

e

m∗
h

) 3

2 1

XC

❙♦ t❤❛t ❢♦r ❤✐❣❤ t❡♠♣❡r❛t✉r❡s✱ ✇❡ ❤❛✈❡ t❤❡ ✐♥tr✐♥s✐❝ r❡❣✐♠❡

1

XF

≈

√
(
m∗

e

m∗
h

) 3

2 1

XC

⇒ EF =
EC + EV

2
− 3

4
kT ln

(
m∗

e

m∗
h

)

✲ ✷✵ ✲



✺ ◗✉❛s✐ ❋❡r♠✐ ▲❡✈❡❧s ✺✳✸ ❚♦t❛❧ ❊q✉✐❧✐❜r✐✉♠

❋✐❣✉r❡ ✸ ✕ ❚❤❡ q✉❛s✐ ❋❡r♠✐ ❧❡✈❡❧s ✐♥ ❝♦♠♣❛r✐s♦♥ t♦ t❤❡ ❋❡r♠✐ ❧❡✈❡❧ ✐♥ ❛ t♦t❛❧

❡q✉✐❧✐❜r✐✉♠ ✭❣r❡❡♥✮✳

❛♥❞ ❢♦r ✐♥t❡r♠❡❞✐❛t❡ t❡♠♣❡r❛t✉r❡s✱ s✐♥❝❡ t❤❡ ❧♦✇✲t❡♠♣❡r❛t✉r❡ ❝❛s❡ ✐s ❡①❝❧✉❞❡❞

❜❡❝❛✉s❡ ♦❢ t❤❡ ❢✉❧❧ ✐♦♥✐③❛t✐♦♥ ♦❢ t❤❡ ❛❝❝❡♣t♦r st❛t❡s✱ ✇❡ ❤❛✈❡

1

XF

≈ c̃T
2

+

√
(
c̃T
2

)2

= c̃T

⇒ EF = EV + kT ln

{

2

nA − nD

(
m∗

hkT

2πh̄2

) 3

2

}

■♥ ✜❣✳ ✸ ♦♥❡ ❝❛♥ s❡❡ t❤❛t t❤❡ ❋❡r♠✐ ❧❡✈❡❧ ✐♥ t❤❡ t♦t❛❧ ❡q✉✐❧✐❜r✐✉♠ ✈❛r✐❡s ♦♥❧②

✈❡r② ❧✐tt❧❡ ❢r♦♠ t❤❡ q✉❛s✐ ❋❡r♠✐ ❧❡✈❡❧ ♦❢ t❤❡ ❤♦❧❡s✱ ❞✉❡ t♦ t❤❡ ❢❛❝t t❤❛t t❤❡

❝♦♥❝❡♥tr❛t✐♦♥ ♦❢ ❛❝❝❡♣t♦rs ✐s ❜② ❛ ❢❛❝t♦r ♦❢ ✶✵✵ ❣r❡❛t❡r t❤❛♥ t❤❡ ❝♦♥❝❡♥tr❛t✐♦♥

♦❢ ❞♦♥♦rs✳

✲ ✷✶ ✲





✻ ❘❡❧❛①❛t✐♦♥ ❚✐♠❡

✻ ❘❡❧❛①❛t✐♦♥ ❚✐♠❡

◆♦✇ t❤❛t ✇❡ ❤❛✈❡ ❝❛❧❝✉❧❛t❡❞ t❤❡ ❋❡r♠✐ ❧❡✈❡❧s✱ ✇❡ ❝❛♥ ❝♦♥t✐♥✉❡ ♦♥ ❝❛❧❝✉❧❛t✐♥❣

t❤❡ ❝♦♥tr✐❜✉t✐♦♥ t♦ t❤❡ r❡❧❛①❛t✐♦♥ t✐♠❡ T1✳ ❙♦ ✇❡ st❛rt ✇✐t❤ ❡q✳ ✭✹✳✹✮ ✉s✐♥❣

❛❣❛✐♥ t❤❡ ❇♦❧t③♠❛♥♥ ❞✐str✐❜✉t✐♦♥ ✭✹✳✾✮✳ ❲❡ ❛❧s♦ s❡t t❤❡ ❡♥❡r❣② ❧❡✈❡❧ ♦❢ t❤❡

❛✈❡r❛❣❡ ♦❢ t❤❡ ✇❛✈❡ ❢✉♥❝t✐♦♥✱ 〈|uk(0)|2〉2E✱ t♦ t❤❡ r❡s♣❡❝t✐✈❡ ❜❛♥❞ ❡❞❣❡✱ ❜❡❝❛✉s❡

♠♦st ♦❢ t❤❡ ❢r❡❡ ❝❛rr✐❡rs ✇✐❧❧ ❜❡ ♥❡❛r t❤❡ ❜❛♥❞ ❡❞❣❡✱ ❛s ❛❧r❡❛❞② ❞✐s❝✉ss❡❞ ❡❛r❧✐❡r✳

❲❡ ❢✉rt❤❡r♠♦r❡ ✉s❡ t❤❡ ❛♣♣r♦①✐♠❛t✐♦♥ f(E)[1−f(E)] ≈ f(E)✱ ✇❤✐❝❤ ✐s ❛ ❣♦♦❞

❛♣♣r♦①✐♠❛t✐♦♥ s✐♥❝❡ ✇❡ ✉s❡ t❤❡ ❇♦❧t③♠❛♥♥ ❞✐str✐❜✉t✐♦♥✳ ❚❤✐s ❣✐✈❡s ✉s✱ ✉s✐♥❣

❡q ✭✹✳✻✮ ❛♥❞ ✭✹✳✼✮✱

G(T ) =

∫

dE
〈
|uk(0)|2

〉2

E
ρ2(E) f(E)[1− f(E)]

=
〈
|uk(0)|2

〉2

EC

∞∫

EC

dE ρ2C(E, T )fe(E, T )[1− fe(E, T )]

+
〈
|uk(0)|2

〉2

EV

EV∫

−∞

dE ρ2V (E, T )fh(E, T )[1− fh(E, T )]

=
〈
|uk(0)|2

〉2

EC

(
V

2π2

)2(
2m∗

e

h̄2

)3
∞∫

EC

dE (E − EC) exp

(

EQC
F − E

kT

)

+
〈
|uk(0)|2

〉2

EV

(
V

2π2

)2(
2m∗

h

h̄2

)3
EV∫

−∞

dE (EV − E) exp

(

E − EQV
F

kT

)

.

■❢ ♦♥❡ ❛♣♣r♦①✐♠❛t❡ t❤❡ ✇❛✈❡ ❢✉♥❝t✐♦♥ t♦ ❜❡ ❝♦♥st❛♥t ✇✐t❤ r❡s♣❡❝t t♦ t❤❡ ❧♦❝❛✲

t✐♦♥✼✱ ❢r♦♠ t❤❡ ♥♦r♠❛❧✐③❛t✐♦♥ ❝❛♥ ❜❡ ❢♦❧❧♦✇❡❞

1 =

∫

❝r②st❛❧

|uk(r)|2 d3r ≈ |uk(0)|2
∫

❝r②st❛❧

d3r

⇒ |uk(0)|2 =
1

V

⇒
〈
|uk(0)|2

〉2

E
=

1

V 2

✼❚❤✐s ✐s ♠❛②❜❡ ❛ ✈❡r② r❛❞✐❝❛❧ ❛♣♣r♦①✐♠❛t✐♦♥✳ ❆❝t✉❛❧❧②✱ t❤❡ ✇❛✈❡ ❢✉♥❝t✐♦♥ s❤♦✉❧❞ ❜❡ ♠✉❝❤
❤✐❣❤❡r ❛t t❤❡ ♥✉❝❧❡✉s ✭r = 0✮ ✇❤✐❝❤ ✇♦✉❧❞ ❧❡❛❞ t♦ ❛ s♠❛❧❧❡r r❡❧❛①❛t✐♦♥ t✐♠❡✱ ❜✉t ❧❡t ✉s
❣♦ ♦♥ ✇✐t❤ t❤❛t ❛t t❤❡ ♠♦♠❡♥t✳

✲ ✷✸ ✲



✻ ❘❡❧❛①❛t✐♦♥ ❚✐♠❡

⇒ G(T ) =

(
kT

2π2

)2(
2m∗

e

h̄2

)3

exp

(

EQC
F − EC

kT

) ∞∫

0

dX X exp(X)

︸ ︷︷ ︸

part.
int.=

∞∫

0

dX exp(X)=1

+

(
kT

2π2

)2(
2m∗

h

h̄2

)3

exp

(

−EQV
F − EV

kT

) ∞∫

0

dX X exp(X)

︸ ︷︷ ︸

=1

(4.5)⇒ 1

T1

=
4

9
πh̄3µ2

0γ
2
eγ

2
n ·G(T )

=
8

9

(µ0γeγnkT )
2

π3h̄3

[

m∗
e
3 exp

(

EQC
F − EC

kT

)

+m∗
h
3 exp

(

EV − EQV
F

kT

)]

◆♦✇✱ ✇❡ ❝❛♥ ❡✐t❤❡r ♣❧✉❣ ✐♥ t❤❡ q✉❛s✐ ❋❡r♠✐ ❧❡✈❡❧s✱ ✭✺✳✶✷✮ ❛♥❞ ✭✺✳✶✾✮✱ ♦r t❤❡

❋❡r♠✐ ❧❡✈❡❧ ❢♦r t❤❡ t♦t❛❧ ❡q✉✐❧✐❜r✐✉♠ ❛♥❞ ❝❛❧❝✉❧❛t❡ t❤❡ r❡❧❛①❛t✐♦♥ t✐♠❡ ❢♦r ❛

❣✐✈❡♥ t❡♠♣❡r❛t✉r❡✳ ❚❤❡ ✈❛❧✉❡ ❢♦r t❤❡ ❜❛♥❞ ❣❛♣ ♦❢ s✐❧✐❝♦♥✱ ∆Eg = EV − EC =

1.14 eV✱ ❛♥❞ t❤❡ ❡✛❡❝t✐✈❡ ♠❛ss❡s ❢♦r s✐❧✐❝♦♥ ✐♥ ✉♥✐ts ♦❢ t❤❡ ❢r❡❡ ❡❧❡❝tr♦♥ ♠❛ss✱

m∗
e = 1.06 ·me ❛♥❞ m∗

h = 0.58 ·me✱ ✇❡r❡ t❛❦❡♥ ❢r♦♠ t❛❜❧❡ ✶✸✳✶ ✭♣✳✸✺✼✮ ♦❢ t❤❡

❜♦♦❦ ♦❢ ❑✐tt❡❧ ❛♥❞ ❑r♦❡♠❡r ✭✶✾✽✵✮ ❬✺❪✳ ❋r♦♠ t❛❜❧❡ ✶✸✳✷ ✭♣✳✸✻✽✮ ♦❢ t❤❡ s❛♠❡

❜♦♦❦ ✇❡r❡ t❛❦❡♥ t❤❡ ✐♦♥✐③❛t✐♦♥ ❡♥❡r❣✐❡s ♦❢ ♣❤♦s♣❤♦r✉s ❛♥❞ ❜♦r♦♥ ✐♥ s✐❧✐❝♦♥✱

EC − E
(P )
D = E

(B)
A − EV = 45meV✳ ❲✐t❤ t❤✐s ✇❡ ♦❜t❛✐♥

T1(289K) ≈ 200 years ✐♥ t♦t❛❧ ❡q✉✐❧✐❜r✐✉♠,

T1(289K) ≈ 194 years ✐♥ q✉❛s✐ ❡q✉✐❧✐❜r✐✉♠,

T1(1.9K) ≈ 100, 600 years.

✲ ✷✹ ✲



✼ ❈♦♥❝❧✉s✐♦♥

✼ ❈♦♥❝❧✉s✐♦♥

❚❤❡ r❡❝❡✐✈❡❞ r❡❧❛①❛t✐♦♥ t✐♠❡s ❛r❡ ♦❜✈✐♦✉s❧② ♠✉❝❤ ❧❛r❣❡r t❤❛♥ t❤❡ ♠❡❛s✉r❡❞

r❡s✉❧ts ❢r♦♠ t❤❡ ❡①♣❡r✐♠❡♥t✳ ❚❤✐s ♠❡❛♥s t❤❛t ✇❡ ❝❛♥ ♥♦t ❡①♣❧❛✐♥ t❤❡ ❡①♣❡r✐✲

♠❡♥t❛❧ r❡s✉❧ts ✇✐t❤ t❤✐s ❝❛❧❝✉❧❛t✐♦♥s ❛♥❞ t❤✐s ❧❡❛❞s t♦ t❤❡ ❛ss✉♠♣t✐♦♥ t❤❛t t❤❡

❝♦♥tr✐❜✉t✐♦♥ ❞❡❧✐✈❡r❡❞ ❜② t❤❡ ❝♦♥s✐❞❡r❡❞ ♠❡❝❤❛♥✐s♠ ✐s t♦♦ s♠❛❧❧✳ ❲❡ ✇♦✉❧❞

♣r♦❜❛❜❧② ♦❜t❛✐♥ ❛ ❜❡tt❡r r❡s✉❧t ✐❢ ✇❡ ❤❛❞ ❛ ❜❡tt❡r ❛♣♣r♦❛❝❤ ♦♥ t❤❡ ✇❛✈❡ ❢✉♥❝✲

t✐♦♥ ❛t t❤❡ ♥✉❝❧❡✉s✱ ❜✉t ✐t ✐s ❤✐❣❤❧② ❞♦✉❜t❢✉❧ ✇❤❡t❤❡r t❤✐s ❡①♣❧❛✐♥s t❤❡ r❡s✉❧ts

♦♥ ✐ts ♦✇♥✳ ❙♦✱ t❤❡r❡ ❤❛s t♦ ❜❡ ♦t❤❡r ✐♥t❡r❛❝t✐♦♥s ✇❤✐❝❤ ❝❛✉s❡ r❡❧❛①❛t✐♦♥✱ ❡✳❣✳

✐♥t❡r❛❝t✐♦♥ ❜❡t✇❡❡♥ t❤❡ ♥✉❝❧❡✐ ❛♥❞ t❤❡ ♣❤♦♥♦♥s ♦❢ t❤❡ ❧❛tt✐❝❡✳
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✐♥ ❙♦❧✐❞✲❙t❛t❡s ❙❝✐❡♥❝❡s ✶✱ ✸r❞ ❡❞✳✱ ❙♣r✐♥❣❡r✲❱❡r❧❛❣✳
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Eidesstattliche Versicherung 

 

___________________________   ___________________________ 

Name, Vorname     Matrikelnummer (freiwillige Angabe) 

 

Ich versichere hiermit an Eides Statt, dass ich die vorliegende Arbeit/Bachelorarbeit/ 

Masterarbeit* mit dem Titel 

__________________________________________________________________________

__________________________________________________________________________

__________________________________________________________________________ 

selbständig und ohne unzulässige fremde Hilfe erbracht habe. Ich habe keine anderen als 

die angegebenen Quellen und Hilfsmittel benutzt. Für den Fall, dass die Arbeit zusätzlich auf 

einem Datenträger eingereicht wird, erkläre ich, dass die schriftliche und die elektronische 

Form vollständig übereinstimmen. Die Arbeit hat in gleicher oder ähnlicher Form noch keiner 

Prüfungsbehörde vorgelegen. 

 

___________________________    ___________________________ 

Ort, Datum       Unterschrift 

        *Nichtzutreffendes bitte streichen 

 

 

 

 

 

Belehrung: 

§ 156 StGB: Falsche Versicherung an Eides Statt 

Wer vor einer zur Abnahme einer Versicherung an Eides Statt zuständigen Behörde eine solche Versicherung 

falsch abgibt oder unter Berufung auf eine solche Versicherung falsch aussagt, wird mit Freiheitsstrafe bis zu drei 

Jahren oder mit Geldstrafe bestraft. 

§ 161 StGB: Fahrlässiger Falscheid; fahrlässige falsche Versicherung an Eides Statt 

(1) Wenn eine der in den §§ 154 bis 156 bezeichneten Handlungen aus Fahrlässigkeit begangen worden ist, so 

tritt Freiheitsstrafe bis zu einem Jahr oder Geldstrafe ein. 

(2) Straflosigkeit tritt ein, wenn der Täter die falsche Angabe rechtzeitig berichtigt. Die Vorschriften des § 158 

Abs. 2 und 3 gelten entsprechend.  

 
Die vorstehende Belehrung habe ich zur Kenntnis genommen: 
 

___________________________    ___________________________ 

Ort, Datum       Unterschrift 

Herrig, Tobias 336108

Näherung der Relaxationszeit von Kernspins in Silizium bei Raumtemperatur
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Aachen, 15.07.16
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